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A=19:B=32
If2*A>BThen
C=2
Else
C=14
End If
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A=30:B=20:C=1
IfB<AThenC=B"A
C=3
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(A)If-Then (B)If-Then-Else (C)Select Case (D){iisT~ If-Then-Else
(C)5. =[] Visual Basic F=VH Bl i - FHELD 8 b HIEE pURH N BRI 2
Xx=4
Select Case x Mod 2
Case 1
MsgBox(x " 2)
Case 2
MsgBox(x / 2)
Case Else
MsgBox(x)
End Select
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X = InputBox("%ﬁ?‘ 1~10 [HIp9 (= - @E‘VJ)
Select Case x
Case 1,3
y=X*X
Case Is>=10,Is<=0
y =X
Case 3
y = -X
End Select
(A)3 (B)-3 (©)9 (D)27
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a=2
Ifa>0 Then
Select Casea=a+ 2
Case 2
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MsgBox("A")
Case 4
MsgBox("B")
Case Else
MsgBox("C")
End Select
End If
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For 1 =10 To 16
For J =100 To 105
Labell. Text &= "**"
Next J
Labell.Text &= "*" & vbCrLf
Next I
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T=0:S=1
ForN=1To5
T=T+S*N*(N+1)
S=
Next N
MsgBox(T)
(A)-1+S (B)S-2 (C)N-S (D)-1*S
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Sex = "F"
H=170
If Sex ="M" Then
W= (H-80)*0.7
Else
W=(H-70)*0.6
End If
(A)54 (B)56 (C)60 (D)63
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A=5:B=10

If (AMod 2 =0) Then
A=A+1

Elself (B Mod 2 = 0) Then
B=B+2
Else
A=A+2
B=B+1

End If

(A)AA=6 (B)A=7 (C)B=11 (D)B=12
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A=2:B=1

IfA>BThenB=A

IfA>=BThenA=B+1

MsgBox("A="&A&","&"B=" & B)

(A)JA=3,B=1 (B)A=2,B=2 (C)A=2,B=1 (D)A=3,B=2
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Forx=1To5
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X=X*2
If x> 6 Then
Xx=x-1
Else
X=x+1
End If
Next x
(A7 (B)8 (©)9 (D)10
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Sum=0
For 1 =1 To 100 Step 2
Sum =Sum + |
Next I
MsgBox("Sum =" & Sum)
(A)Sum= 5050 (B)Sum = 2500 (C)Sum = 2550 (D)Sum = 5500
(B )15.%k= || Visual Basic F=4H B i ﬁ?iflﬂﬁijﬁﬂﬁlﬁﬁ@ﬁ R4 B2
For 1 =10To 1 Step -3
ForK=1Tol
Debug.Print("*")
Next K
Next I
(A)19 (B)22 (C)25 (D)28
(B)16.%hi= | Visual Basic A=V H B i > S AV ER{ 2
S=10
ForA=1To5
ForB=1ToA
S=S+1
Next B
Next A
(A)15 (B)25 (C)35 (D)40
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For x =50 To 100
If Then MsgBox(x)
Next x
(A)x/4=0 (B)x\4=0 (C)xMod 4 <>0 (D)x Mod 4=0
(C)18.Fhi= M FFHE=C i » SUM pyfifi B [ 2
SUM=0:A=1
While A< 10
SUM =SUM +A
A=SUM
End While
(A)8 (B)12 (C)16 (D)32
(C)19.%hi= 7| Visual Basic A=V H B i > S AV ER (P 2
S=0:X=1
While X <=10
Y=1
While Y <= X
S=S+1
Y=Y+1
End While
X=X+1
End While
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C=5:D=1
Do
D=D*C
C=C+1
Loop Until C>=10
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